N of associated (recoToSim) looper tracks vs normalized x*

N of associated (recoToSim) tracks vs normalized X?

[N of reco track vs normalized x2 ]

9] 1%} 4] 0
x x < x
Q Q o (5]
g g g 8
[ [} Q
= g 8101
=
=]
3
1072
107
o ] o o
K 3 s 3
o 14 o 14
0.95)
O'TJ 2 4 6 8 10 12 14 16 18 20 O'“() 2 4 6 8 10 12 14 16 18 20 O'TJ 2 4 6 8 10 12 14 16 18 20 O'T) 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
N of reco rackvs.4 ———— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO
(%] 1%} 2]
x < %
8 g R T TR
= s §
£ s
=] 5 o =] 4
K o o o o o 3 s
o 2 2 2 2 14 o
0.95f- - 095Fe s el
0. 0. ot




	Contents
	Page 1


